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Sl XN B OlBLs CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Z M & Mt 22,345,939 27,835,649 25,489,710
= 3,169,758
Xl 7,929,000
J| 2,095,800
< 9,151,381
N2 H 23 9,269,761 14,628,450 5,358,689
= 15,120
Xl 3,519,000
< 5,735,641
N3 243 Jgrsa 1,511,697 1,284,875 226,822
FXRBH AL 1,246,000 1,008, 380 237,620
308 XXIEHH SOl A 1,246,000 0 1,246,000
10 SII 2SO CHEtE & X 0 & A& I 1,246,000 0 1,246,000
OSSZxZHENHH 2 XA (UHS) 1,200,000
OsdE=SE HEY CB0ZE UEHZ2 2= 10,000
OXNSZHEds =AMt ZHU3 6,000
OE=ZH 4%as ZHe oS el 30,000
SHEEEds 29 15,500 15,500 0
308 XX EHSOIA 15,500 0 15,500
10 B2 S0t B & H A 15,500 0 15,500
OsE=sL stt8d 23 N 15,500
E=2ZHEY 29 80,000 80,000 0
307 21201 A 80,000 80,000 0
02 QB AANHFEX 80,000 80,000 0
Os= ZH=Edg 2EX& 80,000
o FHuns 29 35,000 50,000 A 15,000
308 XtXIEHHSOIA 35,000 0 35,000
10 SII 2SO CHEtE & = 0 & A& I 35,000 0 35,000
O JMuns 24XA 35,000
NEZHsS=HE2Y 35,000 35,000 0
308 A EHHSOIA 35,000 0 35,000
10 B2 S0t B & XA 35,000 0 35,000
OXNZZHseE=4E 2SN 35,000
ANEZHELSHRFE 100,197 95,995 4,202
201 L4l 31,400 26,400 5,000
01 At 2t 2l 31,400 26,400 5,000
Oget=&H| 30,000
- LEHF A= H| 30,000
O= &l 1,400
- NI HEdFa 1,400
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202 Od4dl 2,900 2,900 0
01 = LH 4 Hl 2,900 2,900 0
OZHMBHZEZ 2,900
203 YR =&l 61,000 62,000 A 1,000
03 A FXH S =AY 61,000 62,000 A 1,000
OXNSZNeEds dRFN 61,000
301 et A= 4,897 4,695 202
0B A EERAB NS 4,897 4,695 202
o=a 178,000& =128 2,136
Os4ltl 7,000& x255< 1,785
Ounstl 1,300 »23| 255 663
on=tl 313
HEANE 2483 @ L4300 N2 7,617,425 9,692,045 A 2,074,620
Xl 3,519,000
< 4,098,425
HEANE OHAE XA 30,000 30,000 0
307 glz2+ol & 30,000 30,000 0
02 IZtEAAMHEE 30,000 30,000 0
OdSAIE &0 OAHEWUSE X3 20,000
OoFyg&el DHEns XA 10,000
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307 gl2tol & 12,000 12,000 0
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O&x2o MESAZE HESIIAIY 127,800
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Xl 3,519,000
< 470,625
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
03 A2 Z Hl 5,000 5,000 0
OAxHIAMEgsSxg 2HAN IS 5,000
301 et a =z 1,000 1,000 0
09 &AL HI B &S 1,000 1,000 0
OAHIXNMEHESEE Z2AHAXN AIAS 1,000
ASIEDY AFHOHEH XITR ALY 953,643 1,218,858 A 265,215
= 845,000
< 108,643
308 MtXIEHSOIH 953,643 1,218,858 A 265,215
= 845,000
< 108,643
01 HXNHHBHELS 953,643 1,218,858 A 265,215
OAr2I Z DI AP IHEHl XI&AS 953,643
= 845,000
< 108,643
A EDY 283 XIJAY 35,000 35,000 0
307 glz2tol & 35,000 35,000 0
02 It M AHEE 35,000 35,000 0
Ogl2t AL EIIHEAM 24 29 30,000
OA2I&#IIY HIFE2 & 29 5,000
NS E3 AFHIHEHl X2 AHS 60,000 60,000 0
307 gl2tol & 60,000 60,000 0
02 IZtE S AHE L 60,000 60,000 0
OAZIEIILZBHIIY H2XE At 60,000
(GlHNAISI RIS S ALY 4,593,712 4,668,083 AT4,371
= 176,000
Xl 4,057,000
= 360,712
308 XXM SO0 A 4,593,712 4,668,083 AT4,371
= 176,000
Xl 4,057,000
< 360,712
01 IXNHHBNEES 4,593,712 4,668,083 AT4,371
O(GIEN A RDI 2 SH ALY 4,395,083
Xl 4,057,000
< 338,083
O(ouNAtaI =l AeIEEE = XI& 198,629
= 176,000
< 22,629
OS2I SdAY 486,000 434,000 52,000
X 353,000
= 133,000
307 glz2tol & 156,000 136,400 19,600
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M AMIHEIY L OISIIY =4
S AZEDIY & OIS0 |4 (&)
= - — L=
SA - BB B () - MM - BES Ol &t o San HmEET
Al 78,000
< 78,000
05 RIZtE = 156,000 136,400 19,600
OltSJ1gd sSdAMY s & AL ALY 156,000
Xl 78,000
< 78,000
308 MHXIEHSOIH 330,000 297,600 32,400
Xl 275,000
< 55,000
01 HXNHHBHELS 330,000 297,600 32,400
OS2l S48AY 330,000
Xl 275,000
< 55,000
gsXg g4d3 = 35,000 32,000 3,000
308 XX EHSOIA 35,000 0 35,000
10 B2 S0t B & XA 35,000 0 35,000
Ogsxg 43 ¢ 35,000
OUHXRS X 2l 6,809,798 6,667,121 142,677
= 2,133,638
J| 2,095,800
< 2,580,360
HUX S8 Z5 6,718,798 6,606, 121 112,677
= 2,103,638
J| 2,095,800
< 2,519,360
SADJIA BZAIE EXdl X3 2,041,000 2,400,000 A 359,000
403 MtXSHHS =0l & 2,041,000 2,400,000 A 359,000
01 AXSHMA2E X 2,041,000 2,400,000 A 359,000
OZAIJtA B2 A4 &AXHl X3 2,041,000
SAIAZAL BSHIE ME Y 30,000 30,000 0
207 A RO 30,000 30,000 0
01 289 30,000 30,000 0
OZAIIASIA SSHIE &8 89 30,000
SAIA ANEEES 2UE MY 824 15,000 0 15,000
207 A RO 15,000 0 15,000
01 284 15,000 0 15,000
OZAIA AME2E8s BUINE ME Y 15,000
JFAEOIN =2 AXIXE MY 64,000 0 64,000
403 UHXSHHSA=0l& 64,000 0 64,000
01 XM A= E L 64,000 0 64,000
OJAEOIN 2 EXXE ALY 64,000
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SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
ANOIE JIAANAE XA 1,115,638 858,600 257,038
= 1,115,638
403 XX SHHS K201 & 1,115,638 858,600 257,038
= 1,115,638
01 XIS RS2 X 1,115,638 858,600 257,038
OMBIE JIAAE HEXRAE 1,115,638
= 1,115,638
LPG A NHEHT B2 ALY 372,000 558,000 A 186,000
= 300,000
= 72,000
403 XX SHHS K20 & 372,000 558,000 A 186,000
= 300,000
& 72,000
01 XIS A=Z2E X 372,000 558,000 A 186,000
OLPG A8 HEEHT BEZ2AIY 372,000
= 300,000
= 72,000
SER-E=2-00 2,380,260 1,618,371 761,889
J| 2,095,800
= 284,460
401 Al HI L 2 0HHI 71,429 0 71,429
J| 50,000
=} 21,429
01 Al& H| 71,429 0 71,429
OHANE HABS FAANS(NE) 71,429
J| 50,000
= 21,429
403 XX SHHS K20 & 2,308,831 1,618,371 690,460
J| 2,045,800
= 263,031
01 XIS A2 X 2,308,831 1,618,371 690,460
OF U= MBSES SAAMA(XH) 2,308,831
J| 2,045,800
o=} 263,031
NEHUXKAIE 282 2 s 25,800 26,300 A 500
= 12,900
= 12,900
201 2et2 Y| 12,300 12,800 A500
=2 6,150
= 6,150
01 AP 22| d| 12,300 12,800 A 500
OludXIZE XM & 22
5,000 %2, 0404 10,200
= 5,100
= 5,100
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= - — SHE]|
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OXNYGUHUHXNZEAAY B2uW=E 700,000 x3H 2,100
= 1,050
< 1,050
202 odl 13,500 13,500 0
= 6,750
= 6,750
01 = LH o4 1l 9,000 10,000 21,000
oo XI2d =4 9,000
= 4,500
= 4,500
03 =220l 4,500 3,500 1,000
OXNSUHUHREAAIY HEAIL AS 4,500
= 2,250
< 2,250
ASAMHRAE A2 K& 675,100 1,114,850 A 439,750
= 675,100
403 MtXISHHE X201 E 675,100 1,088,000 A 412,900
= 675,100
01 XM A=2EE 675,100 1,088,000 A 412,900
OXNSUMUEHX ALY AlZXA 675,100
= 675,100
AP TR oFAM 2ke| 91,000 61,000 30,000
= 30,000
< 61,000
SE=ECEFEZY g4s8 AA 25,000 25,000 0
201 Let24d] 2,500 2,500 0
01 At 2teltl 2,500 2,500 0
Oet=2H&EE 3 1,000
OFEZYE 20| &8 & HTHH = 1,500
301 L2 A F 1,000 1,000 0
09 HALAHIEA S 1,000 1,000 0
OZZ2ZZUal dAMHELS 1,000
308 XX EHH SOl A 21,500 0 21,500
1037/ 2SoHUHe B HALS I 21,500 0 21,500
Oz&23dus 21,500
JIEHSEEL L3 XA 30,000 30,000 0
308 XXM S0 A 30,000 0 30,000
1037/ 2SoHUHe A ALS I 30,000 0 30,000
OJIgHsS&2zedx g4s XA 30,000
S| 2EALD 2ZREEH 30,000 0 30,000
= 30,000
308 X XIEtH S0l A 30,000 0 30,000
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= 30,000

01 AIXIHMBAEEXZ 30,000 0 30,000
S| ZEALD sHIPAE=H 30,000
= 30,000

SHST M0 oftN HtAG XA 6,000 6,000 0

307 QI2t0| ™ 6,000 6,000 0

02 DI2HE AAIEE X 6,000 6,000 0
OSEET M| ot™dAFAG XJAAS 6,000

HHSHHU (ZHE ) 97,025 86, 137 10,888

=l 97,025 86,137 10,888

JlE2&l 97,025 86, 137 10,888

201 LEt2 A Y| 22,175 18,627 3,548

01 AFR2t2l bl 22,175 18,627 3,548
OJle+2H| 9,050
OPIE==2=1:| 13,125

202 04| 47,250 39,690 7,560

01 2LHOHI 47,250 39,690 7,560
OJl20 bl 47,250

203 AR Z= Yl 27,600 26,400 1,200

01 J|22H L RF=AH| 6,600 6,600 0
OZHSAa=2E 6,600

04 ENSIHRF=Y| 21,000 19,800 1,200
OZHE 1t 4,200
OEX s Xt 4,200
O Xtel gt 4,200
Ol X1 & 0t 4,200
O=NS& M 4,200




